Second Term-End Evaluation — 2019-2020
PHYSICS — STD X
Answer Key
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1 p@@ 5 UOOWBS 6210346BBUIES” ABO®E1Ejo MISHLITMAHIM DTM0HAE®S: (1 empad allmo)

Score

. MCB - al@o Dj; ai0g” @eaid 01938 - 2N@o B.
.11 kV

n=2

. al@o 3

a rwnN =

. al@o B

el

6 @3 10 110088 ¢2103y6@BBU3Es° ABOMES]1Ejo MISHLIMATTIM DOTMEHREDS:. (2 MIB allmo)

6. (a) emoamdesmal BBajemo (D) VIBIB anBEMMYBHEB ©alEWIWBRM.

(C) eoemenig;” 8Bajemo.  (d) oladaly 0100001 LaIEWOWIHBMD

7. u+1/v=1/1

(b) Iv=1/f-1/u
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17 (a) Step down transformer

(b) Vs/Vp = Ip/Is
Vs = (Ip* Vp)/Is
=(0.1*¥1100)+10
Vs=11V
(c) Input power = Output power; Vp * Ip = Vs * Is
Output power = 11*10
=110 W
Input Power =1100 * 0.1 = 110 W

18.(@)u=-20cm; v=-30 cm
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@RAUAWMo, M = hi/ho = -v/u

=-(-30)+(-20)
m=-1.5
(c) @ryaIBdwmoe, m = hi/ho; hi = m*hi

=(-1.5) * (+4.5)
hi =-6.75cm
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